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1 wer the following questions:

1) For the network of figure 1 find: Ry Iy, 1y, E, and P

Figore 1

[
" 480V 102

A
w

. 20 B
. ) For the electric circuit shown in figure2, use mesh 3}—&«—1 360
analysis to find the voltage across 202 and 6 resistors, i

"we.

118V 30

oy

5Q
Figure 2

.™) For the network of figure3, find the indicated voltage drop (V) on the 3Q-resistor using the
superposition theorem.

.+V-

30
— 480V
230V 115V
L]o] 50
Figare 3
.*) For the network of figure 4. 47KQ
a) Find the Thevenin equivalent circuit for the RN
ions of the network external to points a and b? <
port network ex 0 points a a 352_7;«) R$1.2KQ l R g 38KQ
b) Redraw the network with the Thevenin circuit in E =6V 18mA
place and find the current through the 1.2KQ bT
resistor? rlgm 4
GOOD LUCK
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+ Zourse Code: FE280

First Exam: 20%  Spring 2016

klectrical and Electronics Engineering Department

Date: 06/04/2016

Time: 75 min

| Note: write your name, your student No, department and your group 4 sapal/ - pudll — LN A, - Lot 8"

: Any muttiple answers will not be considered. feasai o {al o SIS

+ write steps of solution, any direct result will not be considered. geaaai ) i yus 403) o1 3 Jah Sl phis o
1pa Ua A

Answer the following questions:

Q.1): a- An electrical system canverts S00 kWh of clectrical encrgy into heat during 10 h. what is

Q.3): For the network of figure3, find the voltage across
the 1k<Q resistor using the superposition’s theorem?

Q.4):'Use. Thevenin’s Theorem to calculate the value and
the direction of the current (I) in the circuit of figure 4.

the power level of the system?

b- For the network of figure 1 find: Ry, I}, I, Vi, and Ppy.

Q.2): For the electric circuit shown in figure2, convert the
current source to voltage source, then, use mesh analysis
to calculate the current through 102 resistor.

J,—gr'-"—tl—-‘!‘@!b’l

‘1& 2oV |l
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\ J'A'l' "
6A 10Q GQi
P 3 L nuv=
12Q 1N s
ru T A'A'A'
Figure 2
9mA
..V:‘“? +
vy
1kQ .
z = 1SmA
9 1.5kQ 3 A0
12mA
Figure 3
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Electrical and Electronics Engineering Department

Course Code: EF280  First Exam: 20%.  Spring 2015 Date: 06/05/2015  Time: 90 min

Note: write your name, your student No, depamnenl and) your group 4&;4“’ paalt — 24N pb el o
: write steps of solution, any direct result will not be considered, prawal () § p3lpe Al gl g okt Gl phas

- Any multiple answers will not be considered. geaead ) L) G JiS) 2p3 9 A

Answer (he following questions: | 200 i1 i 1830 rh
Q.1): Find the value of i}, i, voltage across g o v .
60Q) resistor, and the power supplied by 300 -
4 i 2. 100 i 440 | 270
the source (Total power) for the circult ;=" 500v 2
of figure 1. =
Figure 1
e
Q.2): For the electric circuit shown in figure2, use - i _L
mesh analysis to obtain the following: G180 i 2
RyZ10 n.<'0-~m I 1e €
1- Write the loop equations? ===\ T' Yo
+
2- The loop currents I, , I, , 13? -
= Figure2
P G
Q.3): Using superposition's theorem find the voltage V, ‘ pl P -
—=)— e
(across 5() resistor) for the network of figure3. in se 4t ,
+ I ' '-
L v L,
120 sV o

r usir

Q.4): Find the current in the 20 Q - resistor using
Thevenin's Theorem for figure 4.

Figure 4

GOOD LUICK
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Electrical and Electronics Engineering Department

Code: EF280  Midterm Fxam: 40%, Spring 2017 Date: 03/05/2016  Time: 90 min

Nete: write your name, your student No, department and your group 4 seaall - pusill - 3l o3 - dlase) 381
: write steps of solution, any direct result will not be considered. paai Y i 2ua Lla) o) 5 Jad Slphs 8!
: Any multiple answers will not be considered. geasal o &dal 5o )21 dp g o

Answer the following questions: 80 160
C.1) a- A PC draws 78W. What is the cost of using this Pc for 4 - = ' h
h/day for a month of 31 days if the cost is 11 ¢/Kwh? | 330
254 . na -
b- For the network of figure 1 find V,, V. \L 1 ]
| 12002 v, 3699
! ]
Figure |
Q.2): For the electric circuit shown in figure2, use Source 40 30
Conversions, then, use mesh analysis to calculate the o s b
current through 5K resistor, also indicate the direction of 2z Q=2 260
20V —e <9 LA
the current in each loop. ; - =
T1i0V
Q.3): For the network of figure3, find the current i, through the . s
62 resistor using the Thevenin's theorem. 10 2 Figure 7
—
0.4). A) In the circuit of figure 4. When the switch is at position _L _ b ! I
1, (ind the following: 20V L 1002 350 @ 33
i.  The mathematical expressions for the transient behavior L
of Ve & I¢. . Figure 3
ii.  The initial value of the charging current.
iii. The current after 4 sec from closing the switch. 2ZHE M2 M0
iv.  The energy stored after 4 sec from closing the switch. Aan
v.  The time required until the voltage across the capacitor reaches 70V. 100 v
B) If the switch is thrown onto position 2 after 12 second find the -l >‘—||-——
mathematical expression for the current in the capacitor and the voltage ? 130
across it. | AN
Figure 4
GOOD LUCK
- \
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Electrical and Flectronics Engineering Department

Fina! Exam 50%. Fall 2016  Date: 25/01/2017 Time: 120 min

Course Code: EE280

Answer the following questions:

Q.1) - a) Find the currents I g4, Ir; and Iz and the voltage source K, and the value of R 4 for the network

of figure 1.
b) Use Thevenin's theorem to find the current ({,) that follows into the 492 resistor for the circuit of
figure 2. _ ' '
1}. l.‘l ‘,}3‘ WA, ,C-—\ My
LS B A | AT SR S
) § : | 1was 3 N3
£..J..- ki:'ﬂ ::x‘ Jn::h ] '_JL.
T i ‘l 18V T
Figure 1 '.:"" 2
Q.2): a) For the circuit shown in figure3, Find the voltage across and the energy in each of the capacitors

40uF 60uF

+ VIE- + F_K;‘ +_L

w\“% + Vi == d0uF
Vimgsaow -

Figure 3

b) If a2 magnetizing force of 600 AUm is applied to a magnetic circuit, a flux density of
1200 x 10~* Wb/m? is established. Find the permeability of a materjal that will produce twice the

original flux density for the same magnetizing force.
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Flectrica! 2nd Flectronic Eng. Dept.
EE280, 1™ Midterm Exam, Spring 2013, Time:- 1:i. hr
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Answer the followéum_cmesuons OJW J}W

Q.1 Write only the equation for each loop shown in the following circuit:- [ 10 Marks }
- - A1 8 A 8 A dlla S0 Aokt Jai S

%TIZ \Y%

Q.2 For the following circuit, find the current in the 8-kQ resistor using Thevenin's
Theorem. [ 10 Marks ] .ouis 4 bt lasins (840 YR siad 5 A3 2 g ST 3 3000 i

o oo D Sy o g

Q3 In the circuit shown, calculate the charge in each capacitor and the value of the voltage
S E)[10Marks] (B ) o8 sy o K b inh i d £ 10

_L3pF fav

e 8 B _
] 6uF

Cood luck for all,,, gsapl sa b
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Flectrical and Flectronics F ngineering Department

FE2SO M Midteri Exam Fall 2014 Time: 1:30 hr

Q 1): What is the value of the unknown resistor R in ' m “I'“—:'M' ]
figure-1 1f the voltage drop across the 5000 resistor is ! ' ‘ d
2.5 volts? :=.— ) » NLU L
Y N-SOOL,L;J'J& "01\"'&5‘3'(R)'h)'i~“3.4_s§u,' —.T—l. \ [\§ §
1 IS o A 6 3all g2 8 ‘ |
== 2
Figure |
Q.2): In the circuit shown in Fig. (2), given:
A 11
Ri=R=R3;=10Q, R&=Ry=R~60Q, R=20Q, PN S
E,=24V, et 2 ||
. 4 /’\ R4 B
Calculate: a) Total resistance (Re), b)l, )l Rx§ 2 \-53»\ % : | &
2,050 B 3, 1 SAD 5 WD sy e
Figure 2

Q.3): In the circuit shown in Fig. (3), Given E|=120, E;=45, j .
Ry= 600, R;=30€, Ry=60€2, Re=30Q, Use the | nl { -
-
a

superposition theorem to calculate the following: =

TE‘

. R2
£2
Yt §

a)ly, b) L, c) Va . R3 NEH
Iy, I < AS) S 5 b ya Ol O agad 2o b a1 4,k plasidy L e :/
Figure 3
3 JSAN 3 Tl 5 Jhall -
13,=0.2a
Q.4): Determine current in 40-{) resistor of 7 A
Figure 4 using Mesh analysis method. ; st sQ
L}u&}d‘}ﬂl»,l“’iumm)&(\&h o ll ;nn@
4 M@W‘y‘-\“ +940
Figure 4
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tlectrical and Electronic Eng. Dept
££280, 1" Midterm Exam, Fall 2015, Time:- 1:15 hr
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Answer the following questions

Q.1) Find the values of all the resistances in the circuit shown below. [ 7 marks ]

P=Ed\V R2
N’\Av gh\f
A ! 1 O\f’ L
¥t by ™
8oV = R2 o R4 ¥ 2V
\ ——-_1 =
vy
R7

Q.2) Use the given loop-currents (Mesh analysis) to find the current in the 6 - ) resistor
in the following circuit:- [ 6 marks | 60

20
20V 460V
115V

Q.3 For the following circuit, calculate the current in the 5-kQ resistor using Thevenin's
Theorem. [ 7 marks ]

- 1§V
SKQ 4KQ $) 10mA
4KQ

Good Luck for all,,,
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